

$$A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p \quad C(n)$$

- - -

2010/07/27

2010/11/29

$$C(n) = C_{p^\infty} \oplus C_{p^\infty} \oplus \dots \oplus C_{p^\infty}$$

$$p \quad) \quad A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p \quad C_{p^\infty} = \langle a_0, a_1, \dots; pa_0 = 0, pa_1 = a_0, \dots \rangle$$

$$A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p \quad C(n) \quad : \quad ($$

$$: A \quad - Z_p$$

- 1) $G(T, 0, 0, 0) \quad G(T, 0, 0, a_0)$
- 2) $G(U, 0, 0, 0) \quad G(U, 0, \beta, 0) \quad G(U, 0, 0, c_0) \quad G(U, 0, \beta, c_0)$

$$\beta = (a_0, 2a_0, \dots, (p-1)a_0) \in C(p-1) \quad ; \quad c_0 = (a_0, 0, \dots, 0) \in C(p-1)$$

20K35 :

. :

**Extensions of the Group $C(n)$ by
Means of the Direct Product
of Two Cyclic Groups of Order p $A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p$**

D. Saleh and A. Hanono

Department of Mathematics, Faculty of Sciences, Damascus University, Syria

Received 27/07/2010

Accepted 29/11/2010

ABSTRACT

This paper reports the investigation of extensions of the group $C(n) = C_{p^\infty} \oplus C_{p^\infty} \oplus \dots \oplus C_{p^\infty}$, where $C_{p^\infty} = \langle a_0, a_1, \dots; pa_0 = 0, pa_1 = a_0, \dots \rangle$ by means of the direct product of two cyclic group $A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p$ of order p , where p is a prime number.

It has been concluded from this work that all non isomorphic extensions of the group $C(n)$ by means of the group $A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p$, that correspond to

Z_p – irreducible representations of the group $A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p$, are:

- 1) $G(T, 0, 0, 0)$ $G(T, 0, 0, a_0)$
- 2) $G(U, 0, 0, 0)$ $G(U, 0, \beta, 0)$ $G(U, 0, 0, c_0)$ $G(U, 0, \beta, c_0)$

Where

$\beta = (a_0, 2a_0, \dots, (p-1)a_0) \in C(p-1)$; $c_0 = (a_0, 0, \dots, 0) \in C(p-1)$

The international mathematical code: 20K35

Key words: Extensions, Non isomorphic extensions, Irreducible representations.

$$\begin{array}{l}
 : \\
 G \qquad \qquad \qquad K \qquad \qquad \qquad H \\
 \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad [1],[2] \cdot G/H \cong K \\
 p) \quad p \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p \\
 : \qquad \qquad \qquad n \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad C(n) \qquad \qquad (\\
 \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad C_{p^\infty} = \langle a_0, a_1, \dots; pa_0 = 0, pa_1 = a_0, \dots \rangle \\
 \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad : \\
 C(n) = C_{p^\infty} \oplus C_{p^\infty} \oplus \dots \oplus C_{p^\infty} \\
 G \qquad \qquad \qquad A \qquad \qquad \qquad C(n) \\
 R: A \rightarrow \text{Aut}(C(n)) \\
 \qquad \qquad \qquad a \mapsto R(a) \\
 C(n) \qquad \qquad \qquad [1] (a, b \in A) m_{a,b} \\
 \cdot G(R, m_{a,b}) \qquad \qquad \qquad G(C(n), A, R, m_{a,b}) \qquad A \\
 G/C(n) \cong A : \qquad \qquad \qquad A \qquad \qquad \qquad C(n) \qquad \qquad \qquad G \\
 : \qquad \qquad \qquad \bar{a}, \bar{b} \qquad \qquad \qquad \qquad \qquad \qquad \qquad \qquad a, b \\
 \qquad \qquad \qquad a^i b^j ; 0 \leq i, j \leq p-1 \\
 : \quad c \in C(n) \\
 \qquad \qquad \qquad (a^i b^j)^{-1} c (a^i b^j) = R(a^i b^j) c \\
 \qquad \qquad \qquad : \\
 \qquad \qquad \qquad a^p = c_a, \quad b^p = c_b; \quad ba = abc_0 \\
 : \qquad \qquad \qquad C(n) \qquad \qquad \qquad c_0, c_a, c_b \\
 R(a) c_a = c_a \qquad \qquad ; \qquad R(b) c_b = c_b \\
 : \\
 b^p a = a^p b (R(b^{p-1}) + R(b^{p-2}) + \dots + R(b) + I) h_0; (C(n) \quad h_0)
 \end{array}$$

$$A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p$$

$$C(n)$$

$$R(a) c_b = c_b (I + R(b) + \dots + R(b^{p-1})) c_0 \quad \dots (1)$$

$$R(b) c_a = c_a (I + R(a) + \dots + R(a^{p-1})) c_0 \quad \dots (2)$$

$$: \quad a^p b^p = b^p a^p :$$

$$(I + R(a) + R(b) + R(ab) + \dots + R(a^{p-1} b^{p-1})) c_0 = 0 \quad \dots (3)$$

$$A \quad C(n)$$

$$c_0, c_a, c_b \in C(n) \quad R: A \rightarrow \text{Aut}(C(n))$$

$$G(R, c_a, c_b, c_0) \quad A \quad C(n)$$

: [4]

$$c_a \in A(R(a))/B(R(a)) \quad c_b \in A(R(b))/B(R(b))$$

:

$$A(R(a)) = \{x \in C(n) ; R(a)(x) = x\}$$

$$B(R(a)) = \{(R(a^{p-1}) + R(a^{p-2}) + \dots + I)(x) ; x \in C(n)\}$$

$$n \quad -Z_p \quad C(n)$$

$$\text{(Representation)} \quad -Z_p \quad R: A \rightarrow \text{Aut}(C(n))$$

$$C(n) \quad B = \{u_1, u_2, \dots, u_n\} \quad A$$

$$. A \quad R: A \rightarrow GL(n, Z_p)$$

$$A \quad C(n)$$

$$[3] : \quad A \quad -Z_p$$

$$T: A \rightarrow GL(1, Z_p) \quad U: A \longrightarrow GL(p-1, Z_p)$$

$$a \mapsto 1 \quad , \quad b \mapsto 1 \quad \quad a \mapsto I_{p-1} \quad , \quad b \mapsto \varepsilon$$

$$\varepsilon = \begin{pmatrix} 0 & 0 & \dots & 0 & -1 \\ 1 & 0 & \dots & 0 & -1 \\ 0 & 1 & \dots & 0 & -1 \\ \dots & \dots & \dots & \dots & \dots \\ 0 & 0 & \dots & 1 & -1 \end{pmatrix} :$$

$$:T \quad A \quad C(n) \quad - \mathbf{I} :$$

$$\begin{aligned} A(T(a)) &= \left\{ x \in C(1) ; T(a)(x) = x \right\} \\ &= \left\{ x \in C(1) ; 1.x = x \right\} \\ &= C(1) = C_{p^\infty} \end{aligned}$$

$$\begin{aligned} B(T(a)) &= \left\{ \left(T(a^{p-1}) + T(a^{p-2}) + \dots + I \right)(x) ; x \in C(1) \right\} \\ &= \left\{ px ; x \in C(1) \right\} \\ &= C(1) = C_{p^\infty} \end{aligned}$$

$$A(T(b)) = C_{p^\infty} \quad B(T(b)) = C_{p^\infty} \quad :$$

$$A(T(a))/B(T(a)) = \langle 0 \rangle \quad ; \quad A(T(b))/B(T(b)) = \langle 0 \rangle$$

$$c_a = c_b = 0 \quad :$$

$$c_0^p = 0 \quad (1)$$

$$: \quad C_{p^\infty} = \langle a_0, a_1, \dots ; pa_0 = 0, pa_1 = a_0, \dots \rangle$$

$$\lambda a_0 \quad ; \quad \lambda = 0, 1, \dots, p-1$$

$$A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p$$

$$C(n)$$

$$A \quad C(n)$$

$$: \quad \left\{ G(T, 0, 0, \lambda a_0) ; \lambda = 0, 1, \dots, p-1 \right\} \quad \begin{matrix} p \\ T \end{matrix}$$

$$:$$

$$c \rightarrow \lambda c \quad ; \quad \lambda = 1, 2, \dots, p-1$$

$$C(1)$$

$$C(1)$$

$$: \quad A$$

$$G(T, 0, 0, 0) \quad , \quad G(T, 0, 0, a_0).$$

$$:U$$

$$A \quad C(n)$$

$$A(U(a)) = \left\{ x \in C(p-1) ; U_a(x) = x \right\}$$

$$= \left\{ x \in C(p-1) ; I.x = x \right\}$$

$$= C(p-1)$$

$$B(U(a)) = \left\{ (U(a^{p-1}) + U(a^{p-2}) + \dots + I)(x) ; x \in C(p-1) \right\}$$

$$= \left\{ px ; x \in C(p-1) \right\}$$

$$= C(p-1)$$

$$. A(U(a))/B(U(a)) = \langle 0 \rangle \quad : \quad A(U(a)) = B(U(a)) = C(p-1) \quad :$$

$$. c_a = 0$$

$$:$$

$$A(U(b)) = \left\{ \lambda \left(a_0, 2a_0, \dots, (p-1)a_0 \quad ; \quad \lambda = 0, 1, \dots, p-1 \right) \right\}$$

$$\begin{aligned}
 & B(U(b)) = \langle 0 \rangle \\
 & \quad : \quad c_b \in A(U(b))/B(U(b)) \\
 c_b = \lambda\beta \quad ; \quad & \beta = (a_0, 2a_0, \dots, (p-1)a_0) \in C(p-1) \\
 & \quad \quad \quad h_0^p = 0 \quad (3) \\
 & \quad \quad \quad : \quad C(p-1) \quad p \\
 H = \{ & (x_1, x_2, \dots, x_{p-1}) ; x_i^p = 1 \} \subseteq C(p-1) \\
 \cdot \quad & a.C(p-1) \quad h_0 \\
 U(a) = I_{p-1} & \quad a \quad a_1 = a.x ; x \in H \\
 & \quad \quad p(ax) = 0 \quad G \quad x \quad a \\
 & \quad \quad \quad : \quad c_b \quad c_a \\
 c_a = 0 \quad ; \quad & c_b = \lambda\beta \quad ; \quad \lambda = 0, 1, \dots, p-1 \quad ; \quad \beta = (a_0, 2a_0, \dots, (p-1)a_0) \\
 & \quad \quad \quad : c_0 \\
 & \quad \quad \quad ba_1 = b.(ax) = abc_0x = abxc_0 \\
 & \quad \quad \quad = ax.x^{-1}bxc_0 \\
 & \quad \quad \quad = a_1x^{-1}bxc_0 = a_1U(b)(x^{-1})xc_0 \\
 : \quad & H/H_0 \quad c_0 \\
 & \quad \quad \quad H_0 = \{xU(b)(x^{-1}), x \in H\} \\
 & \quad \quad \quad : \\
 H/H_0 = \{ & \mu(a_0, 0, 0, \dots, 0) \quad ; \quad \mu = 0, 1, \dots, p-1 \} \\
 A \quad & C(p-1) \\
 & \quad \quad \quad : \quad p^2 \quad U \\
 \{ G(U, 0, \lambda\beta, \mu c_0) & ; \quad \lambda = 0, 1, \dots, p-1 \quad ; \quad \mu = 0, 1, \dots, p-1 \} \\
 & \quad \quad \quad : \\
 \beta = (a_0, 2a_0, \dots, & (p-1)a_0) \in C(p-1) \quad ; \quad c_0 = (a_0, 0, \dots, 0) \in C(p-1)
 \end{aligned}$$

$$A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p$$

$$C(n)$$

$$c \rightarrow \lambda c \quad ; \quad \lambda = 1, 2, \dots, p-1$$

$$C(p-1)$$

$$C(p-1)$$

$$G(U, 0, \beta, \lambda c_0)$$

$$U$$

$$A$$

$$a \rightarrow \mu a \quad , b \rightarrow \mu b \quad ; \quad \mu = 1, 2, \dots, p-1$$

$$A$$

$$C(n)$$

$$A$$

$$:$$

$$U$$

$$G(U, 0, 0, 0) , G(U, 0, \beta, 0) , G(U, 0, 0, c_0) , G(U, 0, \beta, c_0)$$

:

$$\beta = (a_0, 2a_0, \dots, (p-1)a_0) \in C(p-1) \quad ; \quad c_0 = (a_0, 0, \dots, 0) \in C(p-1)$$

:

:

$$A = \langle \bar{a} \rangle_p \times \langle \bar{b} \rangle_p$$

$$C(n)$$

$$:$$

$$A$$

$$-Z_p$$

:

$$1) G(T, 0, 0, 0) \quad , \quad G(T, 0, 0, a_0)$$

$$2) G(U, 0, 0, 0) , G(U, 0, \beta, 0) , G(U, 0, 0, c_0) , G(U, 0, \beta, c_0)$$

:

$$\beta = (a_0, 2a_0, \dots, (p-1)a_0) \in C(p-1) \quad ; \quad c_0 = (a_0, 0, \dots, 0) \in C(p-1)$$

REFERENCES

1. Kurosh, A. T. (1953). The theory of groups. Chelsea publishing company. NEW YORK .
2. Hall, M. (1962). The Theory of groups. Reprinted by American Mathematical Society
3. Drobotenko, V; Hanano, A. (1995). Representations of cyclic group of order p^2 . Тези доп . проф. – вик. Складу УжДУ. Ужгород.
4. Hanano, A. (2007). Extensions of the group $C(n)$ by means of cyclic group of order p . Damascus University journal vol.23-No.1.